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Chapter 6.3 – Line of Best Fit – Part 1
TI-83 Practice Worksheet
First: Restore all your default calculator settings.  Turn your calculator [ ON ], then:
PRESS:    [2nd]   [ + ]   [ 7 ]   [ 1 ]   [ 2 ]
Objective:  To learn how to use the linear regression function of the graphing calculator and extrapolate data.
Exercise 1
The following table represents the distance traveled by a car over time during a road trip.

                       L1

           L2
Follow the instructions and answer the questions.
1.  Enter the table values into the calculator.  PRESS:  [ STAT ]   [ ENTER ]

     A table with the columns:  L1  L2  L3 should appear.

2.  Enter the Time (L1) and Distance (L2) values into the L1 and L2 columns using the [ ENTER ] or 
     [ ( ] [ ( ] [(] [(] keys to help you move around the table.  Use [ DEL ] to delete data. 
3.  PRESS: [ GRAPH ].  You should only be able to see the x and y-axes.  The data points you entered cannot be 
     seen on the graph with the current settings.  
4.  We need to change the scales.  PRESS: [ WINDOW ].  Make the following changes:

( Xmin = 0


( Xmax = 10

 

( Xscl = 1


( Ymin = 0


(Use the [ ENTER ] or the [ ( ] and [ ( ] arrow keys to move around)

( Ymax = 300


( Yscl = 50


( Xres = 1

5.  To plot a scatterplot of the data,  PRESS: [2nd]   [ Y= ]   [ ENTER ]   [ ENTER ]   [ GRAPH ]
     The data points should be display.  Draw a rough sketch of the screen you see in the space below.

6.  The scatterplot should suggest that the data represents a linear (straight line) graph.  The calculator can 

     determine whether this is the correct assumption.  Turn on the calculator’s diagnostic tool.
     PRESS:  [2nd]   [ 0 ], then use the [ ( ] key to scroll down to “DiagnosticOn”. (You are going to need to 

     scroll down pass the screen.)  PRESS:   [ ENTER ]   [ ENTER ]   
7.  Let’s check to see whether the calculator agrees with the assumption that the data is linear.  We use the 

     regression equation function to help us.
     PRESS:  [ STAT ]   [(]   [ 4 ]  [ ENTER ]   
     * When we use the regression feature, the value of r2, the coefficient of determination, indicates how well 

        the chosen function fits the data.  The closer that r2 is to 1 or -1, the closer the equation fits the data.


     What is the value of r2 ?





(It should be pretty close to 1.)
8.  The calculator can help you draw a regression line to best represent the graph’s trend.

     To draw the line of best fit,      PRESS: [ Y= ]   [ VARS ]   [ 5 ]   [(]   [(]   [ ENTER ]   [ GRAPH ]   

9.  How far would the car have traveled in 8 hours?  The line of best fit is a good way to interpolate and 

     extrapolate data. 
    METHOD 1:  Using the table of values.  PRESS:  [ 2nd ]   [ GRAPH ]  Scroll down to the value of X = 8.


    What is the value of Y1? 


          km

     METHOD 2:  Using the graph.  PRESS:  [ GRAPH ]  [ TRACE ].  Hold the [(] key down until the X value is 5. 
     (The values of X and Y are on the bottom of the calculator.)   To go beyond X = 5,
     PRESS: [ ( ] once, then hold down [(] until the value of X is approximately 8.   (X should = 8.085…)

     What is value of Y?



km
Name ___________________________________________ Period  _____
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